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ÍÛæ̃ Û¶ÛÛ :   (1) Í Û Û þ ù Û  •Û ¨Û ¶Û ýÛ ×ª Û ¶Û Ûé Š¸Û ýÛ Û é•Û  ï õÁ õ à  ÉÛ ïõÛ ÉÛ é. 
Instructions :  Use of simple calculator is allowed. 

    (2) …Û ÅÛ é” Û ¸Û ª Û  Ü ÈÛ ¶Û×©Û à ¬ Û à  …Û ¸Û ÈÛ Û¾ Û Û × …Û ÈÛ ÉÛ é. 
     Graph papers will be given on request. 

   (3) ›÷¾ Û ¨Û à  ¼Û Û ›ä÷¶Û Û  …×ïõ ¸Û ó Ê¶Û ¶Û Û  •Û ä̈ Û  þ ù ÉÛ Û ÙÈÛ é ™ ö é. 
    Figures to the right hand side indicate marks of the questions. 

 

1. (a) Ü ¶Û ¨Û ÙýÛ ¶Û Û é Ü Í Û ±ù Û ¶©Û  …é¤øÅÛ é ÉÛ ä ×  ? Ü ¶Û ¨ÛÙýÛ  ï éõ¤ øÅÛ Û  ¸Û óïõÛ Á éõ ÅÛ éÈÛ Û ýÛ  ™ öé ? ©Û é ¸Û óïõÛ Á õÛ é ›÷¨Û Û ÈÛ Ûé.  ÐüÛ éÜ ÈÛ Ù̃ Û ¶ÛÛé 
Ü Í Û ±ù Û ¶©Û  ÈÛ ¨Û ÙÈÛ Û é. 4 

  What is decision theory ? How many kinds of decision making ? State different 

kinds. Describe Hurwitz’s principle. 

…¬ÛÈÛÛ/OR 

  Ü ¶Û ¨Û ÙýÛ ¶Û Û  Ü ÍÛ ±ù Û ¶©Û ¶ÛÛ  – Û ¤øïõÛ é ›÷¨Û Û ÈÛ Û é ¶Û é ©Ûé þ ù Á éõïõ¶Û à  ÈýÛ Û ” ýÛ Û  …Û ¸Û Û é. 
  Give elements of decision theory and define it. 

 (b)  …¸Û éÜ “Û ©Û  ¶Û Û ¨Û Û ïõ à ýÛ  ¾ Û æÅýÛ  Ü Í Û±ù Û ¶©Û ¶Û Ûé Š¸Û ýÛ Û é•Û  ïõÁ õ à  ¶Û à ˜ Û é¶ÛÛ  ÈÛ Ç ©Û Á õ Ë ÛéÜ ¨Û ïõ ¾ Û Û ¤éø Ë Û éÌ ¥ø È ýÛ æÐü ¶Û ‘õ à  
ïõÁ õÛ é. Í Û ×̧ Û æ̈ Û Ù ¾ Û Û Ü Ðü©Û à ¶Û ä× …¸Û éÜ “Û ©Û  ¾ ÛæÅýÛ  ¸Û ¨Û  ÉÛ Û éµÛ Û é :  6  

ÈýÛæÐü 
–Û¤ø¶ÛÛ ÍÛ×½ÛÛÈÛ¶ÛÛ 

A1 A2 A3 

E1 30% 150 – 50 – 100 

E2 50% 400 450 500 

E3 20% 500 800 900 

  Find the best act by using Expected Monetary Value principle for the following pay 

off matrix. Also find expected value of perfect information (EVPI). 

Act 
Event Probability 

A1 A2 A3 

E1 30% 150 – 50 – 100 

E2 50% 400 450 500 

E3 20% 500 800 900 

…¬ÛÈÛÛ/OR 
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  ¶Û à ˜ Ûé¶Û Û  ÈÛ Ç ©Û Á õ Ë ÛéÜ ¨Û ïõ ¾ Û Û ¤éø …Ü ¶Û Ü Ê˜ Û ©Û ©Û Û ¶Û Û  Í Û× þ ù ½ Û Ù¾ Û Û× Ü ¶Û ¨Û ÙýÛ  …×•Û é¶Û à  › ä÷þ ù à -› ä÷þ ù à  ¸Û ±ù Ü ©Û …Û é  ³ ù Û Á õÛ 
ïõýÛ Û é ÈýÛ æÐü Ë Û éÌ ¥ø ™ öé ©Û é ›÷¨Û Û ÈÛ Û é. (α – 1 = – 0.4 ÅÛ Û é) 

          ÈýÛæÐü → 

–Û¤ø¶ÛÛ  
 ↓                

A1 A2 A3 

E1 8 – 4 14 

E2 0 12 6 

E3 – 10 18 0 

E4 6 – 2 8 

  For the following pay-off matrix find the best act by using different methods of 

decision under uncertainty  

  (Take α – 1 = – 0.4) 

          Act → 
Event  

 ↓                
A1 A2 A3 

E1 8 – 4 14 

E2 0 12 6 

E3 – 10 18 0 

E4 6 – 2 8 

 (c) ¶Û à ˜ Ûé¶Û Û  ÈÛ Ç ©Û Á õ ËÛ éÜ ¨Û ïõ ¾ Û Û ¤éø ¾ Û Ðü« Û ¾ Û  EMV 285 A2 ÈýÛ æÐü ¾ Û Û ¤éø ™ ö é ©Û Û é EP P I  …¶Û é EV PI     
ÉÛ Û éµÛ Û é :   4 

ÈýÛæÐü 
–Û¤ø¶ÛÛ ÍÛ×½ÛÛÈÛ¶ÛÛ 

A1 A2 A3 

E1 0.5 – 35 120 –100 

E2 0.1 250 –350 200 

E3 0.4 550 650 700 

  For the following pay off matrix max. EMV is 285 for A2 act, then find EPPI and 

EVPI. 

Act 
Event Probability 

A1 A2 A3 

E1 0.5 – 35 120 –100 

E2 0.1 250 –350 200 

E3 0.4 550 650 700 

…¬ÛÈÛÛ/OR 
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  ïõÛ é̂  …é ïõ Í Û ¾ Û Í ýÛ Û ¶Û Û  Ü ¶Û ¨ÛÙýÛ  …×•Û é  …Û ÈÛ éÅÛ Û  …éïõ  ÈýÛ æÐü  ¾ Û Û ¤éø ¾ Û Ðü« Û ¾ Û  Ý ïõ¾ Û ©Û  2 0 0  …¶Û é ÅÛ – Û ä« Û ¾Û 
Ý ïõ¾ Û ©Û  30 0 ™ öé. ÐüÛ éÜ ÈÛ Ù̃ Û  Ü Í Û±ù Û ¶©Û  …¶Û äÍ Û Û Áõ ©Ûé Èý Û æÐü¶Û à  Ý ïõ¾ Û ©Û  13 20  ™ öé ©Û Û é …Û ÉÛ Û ÈÛ Û þ ù à  …¶Ûé 
Ü ¶Û Á õÛ ÉÛ Û ÈÛ Û þù à  …Ü ½ Û •Û ¾Û  •Û ä̈ Û Û ×ïõ¶Û à  Ý ïõ¾ Û ©Û  ÉÛ ÛéµÛ Û é. 

  For any problem a act have maximum value 200 and minimum value 300. 

According to Hurwitz’s principle a act have value 1320. Find value of optimistic 

and pessimistic coefficient. 

  

2. (a) Í Û Û ¾ ÛÜ ýÛ ïõ Ë Ûé̈ Û à ¶Û Û  – Û ¤øïõÛ é ›÷¨Û Û ÈÛ Û é …¶Û é ÈÛ ¨Û ÙÈÛ Û é. 4 

  State the components of time-series and describe it. 

…¬ÛÈÛÛ/OR 

  Í Û Û ¾ ÛÜ ýÛ ïõ Ë Ûé̈ Û à ¶Û ä× ÈÛ ÅÛ ¨Û  ¶Û ‘õ à ïõÁ õÈÛ Û ¶Û à  Á õ à ©Û Ûé ›÷¨Û Û ÈÛ Û é ¶Û é ©Û é ¸Û íéïõ à  ˜ Û Ü ÅÛ ©Û  Í Û ÁéõÁ õÛ ÉÛ ¶Û à  Á õà ©Û ÈÛ ¨Û ÙÈÛ Û é.  
  State the methods of determining trend for time series and describe method of 

moving averages. 

 (b) ¶Û à ˜ Ûé¶Û à  Í Û Û ¾Û Ü ýÛ ïõ Ë Ûé̈ Û à  ¾ Û Û ¤éø  ˜ Û Û Á õ ÈÛ Ì ÛÙ¶Û à  ˜ Û Ü ÅÛ ©Û Í ÛÁ éõÁ õÛ ÉÛ ÅÛ ˆ  …Å¸Û ïõÛ ÅÛ à ¶Û  ÈÛ µÛ– Û ¤øÛ é ÉÛ Û éµÛ Û é ¶Û é ©Ûé 
…Û ÅÛ é” Û  ¸Û ª Û  ¸Û Á õ þ ù ÉÛ ÛÙÈÛ Û é : 6  
ÈÛÌÛÙ : 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 

¶ÛºõÛé (ÅÛÛ”Û 
`̀̀̀ ¾ÛÛ×) : 

500 356 430 445 389 381 326 417 411 339 

  Find short term fluctuations for the following time series by using four yearly 

moving average. Show short-term fluctuations graphically. 

Year : 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 

Profit          

(in lacs `̀̀̀) : 

500 356 430 445 389 381 326 417 411 339 

…¬ÛÈÛÛ/OR 

  ¶Û à ˜ Ûé¶Û à  Í Û Û ¾ ÛÜ ýÛ ïõ Ë Ûé̈ Û à  ¾ Û Û ¤éø ˜ Û Ü ÅÛ ©Û  Í Û ÁéõÁ õÛ É Û ¶Û à  Á õ à ©Û ¬Û à  ¾ ÛÛ éÍ Û ¾ Û à  ÈÛ µÛ– Û ¤øÛ é ÉÛ Û éµÛ Û é : 

          ¾ÛÛéÍÛ¾Û 
   ÈÛÌÛÙ               

ÜÉÛýÛÛÇÛé Š¶ÛÛÇÛé ˜ÛÛé¾ÛÛÍÛä× 

2005 35 30 20 

2006 50 44 35 

2007 60 55 48 

  Find seasonal variations by moving average method from the following time series : 

          Season 
  Year                

Winter Summer Monsoon 

2005 35 30 20 

2006 50 44 35 

2007 60 55 48 
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 (c) ¶Û à ˜ Ûé¶Û à  Í Û Û ¾ ÛÜ ýÛ ïõ Ë Ûé̈ Û à  ¾ Û Û ¤éø ¾ Û Û éÍ Û ¾Û à  Í Ûæ̃ Û ï õ …Û ×ïõ •Û ¨Û Û é :  4 

           ¾ÛÛéÍÛ¾Û 
ÈÛÌÛÙ                ÜÉÛýÛÛÇÛé Š¶ÛÛÇÛé ˜ÛÛé¾ÛÛÍÛä× 

2005 90 25 68 

2006 85 30 65 

2007 78 40 60 

2008 93 29 70 

2009 80 35 64 

  Find seasonal indices for the following time series : 

          Season 

  Year                
Winter Summer Monsoon 

2005 90 25 68 

2006 85 30 65 

2007 78 40 60 

2008 93 29 70 

2009 80 35 64 

…¬ÛÈÛÛ/OR 

  Í Û Û ¾ ÛÜ ýÛ ïõ Ë Û é̈ Û à  ¾ Û Û ¤éø …Å¸Û ïõ Û ÅÛ à ¶Û  ÈÛ µÛ – Û ¤øÛ é ¶Û à ˜ Ûé¶Û Û  ïõÛ éÌ ¤ø ïõ¾ Û Û × …Û ¸Û à  ™ öé ©Û Û é ©Û é  ¸Û Á õ¬ Û à  ¾ Û Û é Í Û ¾Û à      
ÈÛ µÛ – Û ¤øÛ é ÉÛ Û éµÛ Û é : 

¾ÛÛéÍÛ¾Û (…Å¸Û ÈÛµÛ–Û¤øÛé) 
ÈÛÌÛÙ 

I II III 

2003 – 4 – 6 

2004 1 1 1 

2005 1 – 5 3 

2006 3 – 4 1 

2007 0 – 1 – 

  The short term variations are given in the following table for time series. Find 

seasonal variations. 

Season (short term variation) 
Year 

I II III 

2003 – 4 – 6 

2004 1 1 1 

2005 1 – 5 3 

2006 3 – 4 1 

2007 0 – 1 – 
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3 . (a) ½ Û Û Á õ …é¤øÅÛ é ÉÛ ä× ? ½ Û Û Á õ¶Û Û  ¸Û óïõÛ Á õÛé ›÷¨ Û Û ÈÛ Û é …¶Û é ÈÛ ¨Û ÙÈÛ Û é.  4 

  What is weight ? State the types of weights and describe it. 

…¬ÛÈÛÛ/OR 

  Í Û æ̃ Û ïõ…Û ×ïõ¶Û Û  ¸Û Á õ à “Û ¨Û Ûé ïõýÛ Û  ïõýÛ Û  ™ öé ? Ü º õ ÉÛ Á õ¶Û Û é Í Ûæ̃ Û ïõ…Û × ïõ …Û þ ù ÉÛ Ù ™ öé, ÉÛ Û  ¾ Û Û ¤éø ? 

  State the types of tests of Index Number. Why Fisher’s Index Number is called an 

ideal Index Number ? 

 (b)  ¶Û à ˜ Ûé¶Û à  ¾ Û Û Ü Ðü©Û à  ¸Û Á õ¬Û à  ¾ ÛÛ ÉÛ ÙÅÛ -…é›÷ÈÛ ¬ Û Ù …¶Û é Ü º õÉÛ Á õ¶Û Û é Í Ûæ̃ Û ïõ …Û ×ïõ ÉÛ Û é µÛ Û é :  6  

2005 2010 
ÈÛÍ©Ûä …éïõ¾Û 

½ÛÛÈÛ (`̀̀̀) ›÷¬¬ÛÛé ½ÛÛÈÛ (`̀̀̀) ›÷¬¬ÛÛé 

x 1  Ü ïõ.•Û óÛ . 4  3 0 00  •ÛóÛ ¾ Û  8  4  Ü ïõ.•Û óÛ . 

y 2 0  Ü ïõ.•Û óÛ . 1 2 0  1 0  Ü ïõ.•Û óÛ . 2 8 0  1 5  Ü ïõ.•Û óÛ .  

z 5  ¦ ø¡ö¶Û  1 2 0  3  ¦ ø¡ö¶Û  1 4 0  4 8  ¶Û×•Û  

  Find Marshall-Edgeworth’s and Fisher index number from the following data : 

2005 2010 
Item Unit 

Price (`̀̀̀) Quantity Price (`̀̀̀) Quantity 

x 1 kg 4 3000 gm 8 4 kg 

y 20 kg 120 10 kg 280 15 kg 

z 5 dozen 120 3 dozen 140 48 pieces 

…¬ÛÈÛÛ/OR 

  ¾ Û ä×¼ Û ˆ ¶Û Ûé …éïõ ïõÛ ¾ Û þ ù Û Á õ ¾ Û Û ÜÍÛ ïõ ` 5 0 0  ” Û ˜ Ûë ™ öé. …¾ Û ä ïõ ¾ Û Ü Ðü¶Û Û ¶Û Ûé ™ æö¤ø ïõ ½ Û Û ÈÛ ¶Û Û é Í Û æ̃ Û ïõ…Û ×ïõ    
2 6 0  ™ öé. ¶Û à ˜ Û é¶Û à  Ü ÈÛ •Û ©Û Ûé¶Û é …Û µÛ Û Á éõ ” Û Û éÁ õÛ ïõ … ¶Û é – Û Á õ½ Û Û ¦ øÛ  ¸Û Û ™ öÇ ¶Û Û é ” Û ˜ ÛÙ ÉÛ Û éµÛ Û é :    

ÍÛ¾ÛæÐü ”ÛÛéÁõÛïõ ïõÛ¸Û¦ø –ÛÁõ½ÛÛ¦ä×ø ¼ÛÇ©Û¨Û …¶Ûé …¶ýÛ 

” Û ˜ ÛÙ ? 1 5 0  ? 5 0  

Í Û æ̃ Û ïõ…Û ×ïõ  2 6 0  2 5 0  3 0 0  2 0 0  

  The monthly expense of a worker in Mumbai is ` 500. For a particular month his 

retail cost of index number is 260. From the following data find how much he 

spends on house rent and food. 

Group Food Clothes House Rent Fuel & others 

Expenditure ? 150 ? 50 

Index Number 260 250 300 200 
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 (c) ¶Û à ˜ Ûé¶Û à  ¾ Û Û Ü Ðü©Û à  Üº õÉÛ Á õ¶Û Û  …Û ×ïõ ¾ Û Û ¤éø ¼ Û × ¶Û é ¸Û Á õ à “Û ¨Û Ûé¶Û ä× Í Û ¾ ÛÛ µÛ Û ¶Û  ïõÁ éõ ™ öé ? 4 

   ∑p1q0 = 100, ∑p0q0 = 50, ∑p1q1 = 90, ∑p0q1 = 45 

  Following data are satisfied for both the tests of Fisher Index number ? 

   ∑p1q0 = 100, ∑p0q0 = 50, ∑p1q1 = 90, ∑p0q1 = 45 

…¬ÛÈÛÛ/OR 

  ›Û é IF = 0.905Ip ; Ip = 1.22 IL ; Ip = 150 ÐüÛ éýÛ  ©Û Û é IF …¶Û é IDB ÉÛ Û é µÛ Û é. 

  If IF = 0.905Ip ; Ip = 1.22 IL ; Ip = 150, then find IF and IDB. 

 

4 . (a) Ü ¶Û þ ù ÉÛ Ù …˜ Û Ç Û ×ïõ¶Û Û  ¸Û ó¾ Û Û Ü ¨Û ©Û þ ù Û éÌ Û ¶Û à  Èý Û Û” ýÛ Û  …¶Û é Š¸Û ýÛ Û é•Û à ©Û Û  ›÷¨Û Û ÈÛ Ûé. 4 

  Define standard error of a sample constant and give its utility. 

                  …¬ÛÈÛÛ/OR 

  ÈýÛ Û ” ýÛ Û  ›÷¨Û Û ÈÛ Ûé : 

  Define : 

  (1 ) Í Û Û þ ù à  ¸ÛÜ Á õïõÅ¸Û ¶Û Û  

    Simple hypothesis 

  (2 ) Í Û ×ýÛ äî ©Û  ¸Û Ü Á õïõÅ¸Û ¶Û Û  

    Composite hypothesis 

  (3 ) Ü ¶Û Á õÛ ïõÁ õ¨Û à ýÛ  ¸Û Ü ÁõïõÅ¸Û ¶Û Û  

    Null hypothesis 

  (4 ) ÈÛ íéïõÜ Å¸Û ïõ ¸Û Ü Á õïõÅ¸Û ¶Û Û  

    Alternative hypothesis 

 (b)  ¸Û Û ×̃ Û  Ü Í Û ‘õÛ  …éïõ Í Û Û ¬ Ûé Š™ öÛ Ç ÈÛ Û ¾ Û Û× …Û ÈÛ é ™ öé. p …é ™ öÛ ¸Û  ¾ Û Çé ©Û é¶Û à  Í Û×½ Û Û ÈÛ ¶Û Û  ™ öé. H0 : p = 
1

2
 

Ü ÈÛ Äõ±ù  H1 : p = 
3

4
 ¶Û ä× ¸Û Á õ à “Û ¨Û  ïõÁ õÈÛ Û ›Ûé 3  ¬Û à  ÈÛ µÛ ä ÈÛ” Û ©Û  ™ öÛ ¸Û ¾ Û Çé ©Û Ûé H0 Í ÈÛàïõÛ Á õÈÛ Û ¾ Û Û× 

…Û ÈÛ ©Û Û é ¶Û ¬ Û à . ¸Û óïõÛ Á õ-I  …¶Û é ¸Û óïõÛ Á õ-I I  ½Û æÅÛ ¶Û à  Í Û×½ Û Û ÈÛ ¶Û Û  ÉÛÛ éµÛ Û é. ¸Û Á õ à “Û ¨Û ¶Û ä× Í Û Û ¾ Û ¬ ýÛÙ ¸Û ¨Û  ÉÛ Û éµÛ Û é.  6 

  Five coins are thrown simultaneously. p is a probability of getting head. To test            

H0 : p = 
1

2
 vsù H1 : p = 

3

4
, if we get head more than three times then H0 is not 

accepted. Find probability of type-I and type-II error and also find power of the test. 

…¬ÛÈÛÛ/OR 
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  ýÛÛþùÜ˜™öïõ ˜ÛÅÛ X¶Ûä× Í Û ×½ Û Û ÈÛ ¶Û Û  Ü ÈÛ µÛéýÛ  p(x) = 
e–m⋅mx

x!
 ¸Û Û éýÛ Í Û ¶Û  Ü ÈÛ ©Û Á õ¨Û ¶Ûé …¶Û äÍ Û Áéõ ™ öé.                  

H0 : m = 1 Ü ÈÛ Äõ±ù  H1 : m = 2¶Û ä× ¸Û Á õ à “Û ¨Û  ïõÁ õÈÛ Û ¶Û ä× ™ öé. ›Û é …Í ÈÛ à ïèõ©Û  ¸Û óþ é ù ÉÛ  ©Û Á õ à ïéõ X ≥ 2 

Í ÈÛ à ïõÛ Á õÈÛ Û ¾Û Û× …Û ÈÛ é ©Û Û é ¸Û ó¬ Û ¾ Û  ¸Û óïõÛ Á õ¶Û à  ½ ÛæÅ Û , ¼ Û à ›Û  ¸ÛóïõÛ Á õ¶Û à  ½ ÛæÅÛ  …¶Û é ¸Û Á õ à “Û ¨Û ¶Û ä× Í Û Û ¾ Û¬ýÛ Ù ÉÛ Û éµÛ Û é. 

   [e–1 = 0.3679, e–2 = 0.1353 ÅÛ Û é.] 

  The probability density function p(x) = 
e–m⋅mx

x!
 is for Poisson distribution for 

random variable X. To test H0 : m = 1 vs H1 : m = 2. If critical region X ≥ 2 is 

acceptable then find type-I error, type-II error and power of the test. 

   [e–1 = 0.3679, e–2 = 0.1353] 

 (c) …éïõ Ü Í Û ‘õÛ  4  ÈÛ ”Û ©Û  Š™ öÛ Ç ÈÛ Û ¾ Û Û× …Û ÈÛ é ™ öé. ›Û é  Š¸Û Á õ¶Û à  ©Û Á õº õ …éïõ ïéõ ©Û é¬ Û à  …Û é™ öà  ™ öÛ ¸Û  ¸Û ¦ éø ©Û Ûé 
H0 ¶Û Ûé …Í ÈÛ à ïõÛ Á õ ïõÁ õÈÛ Û ¾ Û Û× …Û ÈÛ é ™ öé. ¸Û óïõÛ Á õ-I  ½ Û æÅÛ ¶Û à  Í Û×½ Û Û ÈÛ ¶Û Û  ÉÛ ÛéµÛ Û é. 4 

  A coins tossed 4 times. H0 is not acceptable when one or less than one head on 

upper side of coin. Find probability of type-I error. 

…¬ÛÈÛÛ/OR 

  H0 : m = 1 Ü ÈÛ Äõ±ù  H1 : m = 2 ¶Û ä× ¸Û Á õ à “Û ¨Û  ïõÁ õÈÛ Û ¶Ûä× ™ öé. ›Û é Í ÈÛ à ïèõ©Û  ¸Û óþ éù ÉÛ  X ≥ 2 ©Û Á õ à ïéõ ÅÛ éÈÛ Û ¾ Û Û× 

…Û ÈÛ é ©Û Û é ¸Û óïõÛ Á õ-I I  ½ ÛæÅÛ ¶Û à  Í Û×½ Û Û ÈÛ ¶Û Û  ÉÛ ÛéµÛ Û é . 

  [e–1 = 0.3679, e–2 = 0.1353] 

  Test H0 : m = 1 vs H1 : m = 2. If acceptable region is X ≥ 2 then find probability of 

type-II error. 

  [e–1 = 0.3679, e–2 = 0.1353] 

 

5. ¶Û à ˜ Ûé¶Û Û  ¸Û óÊ¶Û Û é¶Û Û  ›÷ÈÛ Û ¼ Û  …Û ¸Û Û é : 14 

 Answer the following questions : 

 (1 ) ïõÛ é̂  …éïõ È ýÛ æÐü¶Û à  ª Û ¨Û  – Û ¤ø¶Û Û …Û é ¾ Û Û ¤éø EP P I  = 5 2 0  ™ öé ©Û é¾ Û ›÷ ¾ Û Ðü« Û ¾ Û  …¸Û éÜ “Û ©Û ¶Û Û ¨Û Û ïõ à ýÛ 
¾ Û æÅýÛ  ¾ ÛéÇ ÈÛ ÈÛ Û  ¾ Û Û ¤éø ÈÛ Ç ©Û Á õ Ý ïõ¾ Û ©Û Ûé …¶Û ä’ õ¾ Û é 2 2 0 , 30 0 …¶Û é – 4 3 0  ÐüÛéýÛ  …¶Û é – Û ¤ø¶Û Û …Û é¶Û à  
Í Û ×½ Û Û ÈÛ ¶ÛÛ  …¶Û ä’ õ¾ Ûé 0 .2 , 0 .5  …¶Û é 0 .2  ÐüÛ éýÛ  ©Û Û é EV P I  ÉÛ ÛéµÛ Û é. 

  Any act have three events and for that EPPI = 520. To find maximum EMV we 

have pay off value respectively 220, 300 and –430 and probability of events 

respectively 0.2, 0.5 and 0.2 then find value of EVPI. 

 (2 ) ˜ Û Û Á õ ¾ Û ÛéÍ Û ¾ Û  ¾ Û Û ¤éø Q1, Q2, Q3, Q4 ¾ Û Û ¤éø¶Û à  ¾ Û Û éÍ Û ¾ Û à  Í Û ÁéõÁ õÛ ÉÛ  …¶Û ä’ õ¾ Û é 5 0 .75 , 5 0 .25 , 6 0 .50 

…¶Û é 6 8 .5 0  ™ öé. ©Û Û é ˜ Û Û Á õ ¾ Û ÛéÍ Û ¾ Û  ¾Û Û ¤éø¶Û Û  ¾ Û ÛéÍ Û ¾ Û à  Í Ûæ̃ Û ïõ …Û ×ïõÛ é ÉÛ Û éµÛ Û é . 

  The seasonal average of four seasons Q1, Q2, Q3,  Q4  are respectively 50.75, 50.25, 

60.50 and 68.50. Calculate seasonal index for each of the season. 
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 (3 ) ›Û é ∑p1q0 : ∑p0q0 = 3 : 2 …¶Û é ∑p1q1 : ∑p0q1 = 5 : 2 ÐüÛ éýÛ ©Û Û é IDB …¶Û é IF ÉÛ Û éµÛ Û é. 

  If ∑p1q0 : ∑p0q0 = 3 : 2 and ∑p1q1 : ∑p0q1 = 5 : 2, find IDB and IF. 

 (4 ) …Û µÛ Û Á õ ÈÛ Ì Û Ù¶Û à  Í Û Á õ” Û Û ¾Û ¨Û à ¾ ÛÛ × ˜ Û Û ÅÛä ÈÛ Ì Û ë  ÈÛ Í ©Û ä…Û é¶Û Û  ½ Û Û ÈÛ¾ Û Û × …¶Û ä’ õ¾ Ûé 5 0 0 % , 60 0 %, 7 0 0 %, 

9 0 0% , 1 0 00 %  ÈÛ µÛ Û Á õÛ é ¬ Û ÛýÛ  ™ öé. šýÛ Û Á éõ ©Û é ÈÛ Í ©Û ä…Û é¶Û Û  È Û ¸Û Á õÛ ÉÛ  ¾ Û Ðü« ÈÛ ¶Û ä× ¸Û ó¾ Û Û ¨Û  2  : 2  : 2  : 

2  : 2  ™ öé. ©Û Û é ˜ Û Û ÅÛä ÈÛ Ì Û Ù¶Û Û é Í Ûæ̃ Û ïõ …Û ×ïõ ÉÛ Û éµ Û Û é. 

  The price for the current year compared to the base year have increased by 500%, 

600%, 700%, 900% and 1000%. Their relative importance are in the proportion of 

2 : 2 : 2 : 2 : 2. Find index number for the current year.  

 (5 ) ¸Û Á õ à “Û ¨Û ¶Ûä× Í Û Û ¾ Û ¬ ýÛÙ …é ¤øÅÛ é ÉÛ ä× ? 

  What is meant by power of the test ? 

 (6 ) ›Û é ¸Û óõ¬ Û ¾ Û  ¸ÛóïõÛ Á õ¶Û à  ½Û æÅÛ ¶Û à  ÍÛ ×½ Û Û ÈÛ ¶Û Û 0 .94 53  ©Û ¬Û Û  ¸Û Á õà “Û ¨Û ¶Û ä× Í Û Û ¾Û ¬ ýÛÙ 0 .9 9 66  ÐüÛéýÛ  ©Û Û é ¼ Û à›Û 

¸Û óïõÛ Á õ¶Û à  ½ ÛæÅÛ ¶Û à  Í Û×½ Û Û ÈÛ ¶Û Û  ÉÛÛ éµÛ Û é. 

  If the probability of type-I error is 0.9453 and power of the test is 0.9966 then find 

probability of type-II error. 

 (7 ) ÈÛ µÛ ©Û ä ÈÛ ÅÛ ¨Û  …¶Û é – Û ¤ø©Û ä× ÈÛ ÅÛ ¨Û  …é¤øÅÛ é ÉÛ ä×  ? 

  What is increasing trend and decreasing trend ? 

____________ 


